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5250=250+5000 250=0.05*5000 5000 S
5512.5=262.5+5250 262.5=0.05*5250 5250 Al
5788.125=275.625+5512.5 275.625=0.05%5512.5 5512.5 iy
6077.53=289.41+5788.125 289.41=0.05*5788.125 5788.125 dadl
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Cn= ¢(1+)", C4= 5000(1+0.05)"*
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C4= 5000(1.21550625)= 6077.53 da
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Log cn= logc+nlog (1+i)
Log cn= log (5000)= 4log(1.05)=3.69897+(0.021189299)*4
Log cn= 3.783727196 = cn= 10>7837271%= 6(77.53

(1) RSl 525 Aad a2

¥ Akl
I=c(1+i)"-1= 5000(1+0.05)* —1= 5000%0.21550625= 1077.53
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I= en—c= 6077.53-5000~ 1077.53
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Crnmyi2= S(1+)" (1+)™"
Cs.7/12= 6000 (1+0.04)*(1+0.04)""* = 6905.38
:aSuli-21

Crnmj12= ¢(1+)" + ¢ (1+)" *i*m/12
C3, 7/12= 6906.66
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C3=48000(1+0.03)* (331 a z (1)
C3= 48000*1.092727= 52950.9
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C5= 48000(1+0.036)
Log c5=log 48000+5log 1.036= 4.758040
C5=57284.9
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Cio= ¢(1+0.02)!%, C=C1o/(1+0.02)'* =6924.56
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X7= x(1+i)"= x(1.315931779)
Y 0= y(1+)'%= y(1.480244285)
X7/y10= 1.315931779x/1.480244285y=5/3
Y= 3.947795337x/7.401221425= 0.53x
X+0.5x= 300000, x= 300000/1.5=200000
Y=300000-x=100000
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N=2#4=8
Cs= C(1+0.05)* = 7000(1.477455444)= 10342.19



